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| Theﬁguresmthemargmmdleatefullmarks
o for the questlons
l Answer the followmg questlons (whmn 50 words.
each) : _  2x4=8
: ,(a)r Deﬁne the term Demography
,‘ (b), ; ‘What i 1s ‘Agmg of populations’ ? .

" (©)- Define Urbanization as used by recent Census |
. of Indna.

- (d) Distinguish between ‘complete’ and ‘curtate’
‘ expectation of life.
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2 Answer the followmg quesnons (whmn 150 words' |
_ ' ‘ : 5x4—20 A
Dlﬁ'erentlate between the views -of macro
demographlc and micro demographxc groups |

Explam in brief the determmants of |

“ mlgratlon.

- mh)

®
©
@

@

®)

- Explain Chiang’s methods of constry
an abndge life table

4

Dlﬂ‘erennate between the. concepts of ‘mean

age at. mamage and smgulate mean age at |

marriage’. .
What is infant mortahty rate 7' Dlﬁ'emnuate

between neonatal and post -natal mortahty '

rate. : | - | 2 +3=5

Answer any two of the folloWing' qnestions :

10x2=20
What do you meant by Populatlon change ?
Explain the absolute and relative-

measurements of population chan
suitable example. . g?:-Xllﬂ(:

What are the basic assumptions underlying
the construction of ar abridge life table ?
cting
- 3+7=10
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Answer the following questions :

(a)

Critically explam Todero s model of rural-
urban migration. - - 10

Examine the methods used in projecting the

population of a country. 10
16x2=32

What are the structure and charactenstlcs of
population ? Explain the factors affecting

the age and sex structure of population.
6+10=16

Or
What are the characteristics of .an urban

-area ? Explain the trends and growth of an
urban population of India. 4+12=16

(i) Estimate the standardlzed death rate for- |

®)
~ the following two countries :
Age group Death Rate | Standard
(in years) per 1600 population
~ ' Country A | Country y B |(in lakhs)
0-4 100 50 100
5-14 1.0 20 200
1524 1.4 10 190
2534 2.0 1.0 180
3544 | 33 20 120
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. fse'sroup.;A ' Deiﬁ Rt Sandard
——|Country A] Country B(in lakhs) | | -
S 10 | se 100 o . (Theory Paper)
55-64 150 | 120 : o ‘
S I . - 70 '
X N ‘ . P Code : ECO 47
6140 | 350 |30 aper N
75 and above| 1200 | 1909 o | | (Industrial Economics)
, Interprete your resurts, - Full Marks — 80
»k(i.i)"What‘should be the essential features of . ‘ o Pass Marks — 32
- apopulat!onpohcy foracounuy with 8 | T Time — Three hours
~ moderate rate of population growth ? . Lo o ' o
T . 8+8=16 The figures in the margin indicate full marks
| | Or T T - ~° for the questions. o
_th?.“ dem°3ml’l“° processesimpact . j - Apswer the following questions (whitin 50 words
g composition and size of labour - each)= | ‘ ' - 2x4=8

- force ?- How is workforce participation | v
rafe explained ? What factors are (@) What s Horlzonel mereet
rasponsible for the increase in ft‘sm-ille |
 Workforce participation rates in recent

'(b) ‘What is Disinvestment ?
- 843+5=16 () What is an ADR ?

) ‘Wit & note on BondéQ
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' 2 Answer the followmg quesuons (Within 150 Words | 4 Answer the following questlons A d |
ety o osxa=0 | @) What is MSME ? Explain 'h:ls?leﬁ '
@) Wnte a note on G‘ 2. - o . contribution of MSME in India. exp .
, the problems faced by the sector.
(LN Explamthemle ofMNCmIndla. o 'or' : 3
() Explain the various factors which influence | ) Or
uence ' D t Government pohcles to
o productmty of an industry, ° . - Explam the differen .
. ol . encourage foreign capital in India and how B
(.d) Write the d‘ﬁm"es between Merger and .| . does foreign capital mﬂuenoe industrial sector
Amelpanetion, © - | | ofthe country o |
Answ f the T S influence for
- 3. w ing . o What are the factors ‘that
Ansyer any ? of the followmg questnons . ~(b)_ location of an in dustry ? Cntlcally discuss
(@) Whatns industrial Mbm‘mon?EXplamthe : | | . A
various causes behind indusria] combination, . O
‘ o ? Explain the
(b) Explain the Impact of New Industria] policy | . Whatis pnvate sector industry tofx;dusmes .
- ~ on industrialisation in India. ‘ . role and function of private sec!
(c) What is Regional Disparities 7 What are the in India.

- main causes of Regxonal DlSparmes ? Give

some suggestions to reduce/remove the
problem ? :

(&) Explain different sources gng imp(',m e of

0 . 300
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